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Note :  Answers may be written either in English or in Hindi; but the same medium should be

- used throughout the paper.
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Attempt all qilestigns. All questions carry equal marks.
Use of simple calcula-torr 1s allowed. Workings form part of your answer.
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1. (a) “The technique of Vaﬁable Costing is more used to provide a reasonable and

sound basis for managerial decision than to amve at product cost” Elucidate the
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_Statement with reference to the various types of decisions in which van'able eosting
,.isuse'ﬂll.',_‘ | 10
(b). En‘umerate‘ the 'basic principles of Cost Reducﬁon. » _ 5
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(@) “Marginal costing reveals the lowest price at which. a product can be sold.”
' Comment on the statement. State exceptions, ‘if any. 5

(b)) MS limited -has prepared a budget for the productlon of 50,000 umts of the

only commodity manufactured by them for a period as "iifider :

Detalls : ' .’ ‘ Amouht
(Per unit) - | : (Rs.)
Raw Materials .- o | 252
Direct Wages o ' | | 75 f
Direct expenses | - | A ' 1

. Works overhead (60% fixed) - o ' 250
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Administration overheads (20.% variable) N a0
Sel-ling, overheads;(SO% ﬁxed). ' 20 |
Thé éctual production ,dliring the p;ariod was 'pnly 30,000 units. Calculate the._

“rev1sed budget as well as cost per unit. | 10
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2. The budgeted and actual
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figures for the month of July, 2013 in respect of sales are

given below :
Budget Actual

Product - T
Quantity Price | Value Quantity Price Value
Rs. | Rs._ . Rs. "Rs.
A 600 10 6,000 |- 600 8 14,800
B 1,000 4 4,000 800 5 4,000
10,000 8,800

Calculate the sales variances, presuming that the products are not homogénous. 15
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T qrdiaeh
%. %. s 5.
A 600 10 6,000 600 8 - | 4,800
B 1,000 4 4,000 800 5 4,000
10,000 8.800
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" GSR Limited manufactures MTX by mixingj three raw materials. For every batch of

100 kés of MTX, 125. kgs of raw materials ar.e required. In April 2013, 80 batches

were prepared to produce an output . of 7,600 kg of MTX. The standard and .thc‘

actual details for April 2013 are as under :

Standard Actual
Raw Mix Price (Rs) | Mix Price (Rs.) [Quantity of Raw
Material (%) per kg () | per kg Material -
. Purchased (kg)
CM-1° 50 60 60 65 6800 -
M2 30 S8 |2 25 2800
M-3 20 12 15 15 | 1600,

Compute the following :

() Material Cost Variance

(ify Material Usage Variarce
(iif) Mateﬁal Pﬁce Yaﬁance
(iv) Material Mix Vafiaflce; and

(v) Material Yield Variance, ) : ‘ 5x3=15

P.T.O.
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3. The following details are obtained from the costing recolrds of a Factory :

Details S o L o Produét A

" (®s. per Unit)

Product B

- (Rs. per Unit)

Selling Price. * : o | __‘50'0
Materials (Rs. 50 per __kg)- o 100 -
| Lab;i_u} (Rs.‘ 24 .per hour) - _  .—15‘0 |
Var;able overhea@s _ ‘. | o ) ‘ | §0.

11,250
400

240

- 120

" Total Fixed Overheads Rs. 1,80,000.

Comment o_r'xl the 'proll’itability | .of each product when :.
(z')_ Raw mateﬁal is in shortl supply -_

(i) Produétjén capacity is lignited.

(i) Sa]e;s quantity is limited

(v) Sales value is limited )

(v) Only 4000 kgs of raw materials is available for both the products in total.

Maximum sales quantity of each"‘proc_luct is 800" units- Find out total profit. 15

_ PTO.
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A company wanis to buy a NEW machine to replace: one which is having frequent

break-down. It received offers for two model'sl M1 and M2, Further details regarding.

the-se‘ models are given below -;

Details M1 - M2
Installed capacity (units) 10,000 10,000
Fixed overhead per annum (Rs.) 2,40,000 1,00,000
Estimated Profit 'at,‘the above capacity (Rs.)

1,60,000

1,00,000

The product manufactured using this type of machine (M1 and M2) is sold at Rs!

100 per unit.

You are required’ to determine :

@ " Break-even level Qf sales for each model.

(i)’ The level of sales at which both the models will eamn the same profit.

" (@) The model suitable for different levels of demand for.the product.

15

P.T.O.
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The cost per unit of the three products P-1, P-2 and” P-3 of a concern are as

follows

Details o . Cop | p2 | P
-Va‘riable Cost (Rs.) .. o , 20 20 18
Fixed Costl(Rs.)' | SRR IR T 3 P
“Total Cost (Rs) R 2B B |
Profit (Rs) | - | 9 7 6
Selling ;;rice Rs) - | 32 30 26
. Nmber of 'gnits'produce;q 10000 | 5,000 8,000

Productionr arrangements are ‘such that if one -product 18 'given up, t.he production of
othefs can be raised By 50%. | Tﬁé directo_.x;s' p¥opose tﬁat p.roduct 'P-3 should be given
up because the'gon‘gribution ‘in 't_hat c;,-asfe 'is the lowest. Do you agree 7. What_ other
noﬁ-cost" -Considgrations should “_‘bez k‘ept' ilrl mind be'f(?;e t'aking decision - in such
stution ? S o 15
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Prebare Income Statement as per (i) Variable Costing and (ii) Absorption Costing.

Basic Production/Sale Data (Unit) -

Details ' . Year | Year
2011-2012 | 2012-2013

‘Op_eﬁing Inventory ' | . Nil 12000
" Production o 68000 | 56000

Sales ' 56000 64000

End Inventory - 12000 4000

. Cost Structure per unit (Rs.)

Direct Materials _ 300
Direct Labour - 400
Variable Manufacturing Overhead 50
Standard Variable Cost of Production . 750

S.a_les Commission @ 4% of Sales V—'alue

Selling Price per unit o _ ' 1250

Annual Budget for Fixed Manufactuﬁng O;/erhead is Rs. 75,00,000 for the budgeted
prdduction of 60,000. units. Budgeted Fixed Selling and Administration’ Overhead is
Rs. 32,50,000. | " - . | 15
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(a) A“Responsibi]ity accounting is an important- devicé for control.” E]uciciate.
(b) Write short note on Zero Base Budgeting.
'(.c) Give assumptions of Break-even Charts - | oo 3x5=15
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(@) Explain ‘Relevant Cgst’ and ‘Opportunity Cost’ with examples.
(6) The '\}inayak Ltd. Company manufactures a range of products and haS just
| received a proposal from the Shankar Ltd. company that one qf it; products
‘T’, could be supplied to them advantageously at a pricé of Rs. 28 per unit.

The cost of mé_nufacturing in the Vinayak Ltd. Company is as unider :

Details _ o o T costs per unit (Rs.)
- Material B o | | 15 .
Prqcess 1 | . : h : 15
" Process 2 - n | .5
Total | - o 35

P.T.O.
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- From further enqﬁiries the fo.llowi'ng 'facts emerge :

" () Process 1 costs inc]uded_an e]em;ant of fixed overhead of approximately
40%. .

. (i) Process 2 is a joint process producing. three products in éddition to "T;.
The process co_st:; would still be incurred if ‘T’ were noi | prt‘)duced by thf_:
Com_pany.. Advise the managg;emerit of the Vinayak Ltd. Compa.ny whether
-the . proposal to purchase should be éccepted or to. conti'nue manufacfuring.

{c) Calculate Vthe following ﬁgﬁres :
() Efﬁcienéy' Ratio - | |
(i) Activﬁy Ratio and

- (iif)  Capacity .Ratio.

Details . k ‘ - Unit or Hour
Budgeted Productioﬁ (Uﬂt) 7 N | | - 880
Standard hours per ‘unit .(Holn'_) | - 100
Actual Production (Unity | S . 750
Aétual_ lworﬁking hours (ﬁour)_ n . - . 6,00‘0

3x5=15
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